22

x
<
x
)
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™
—
<
=
=3
<

uciaHU_LZnH4T 1
o
o
G

o
o
=

0.03

0.02

0.01

alphal3_4eX1X:cyclenum {run == 8296}

AT P P DT P PN
'411074.5 11075 11075.5 11076 11076.5 1. 7
cyclenum

deltad46_12X4eY:cyclenum {run == 8296}

11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum

0.25

AIPNA4O_4e Y 4d Y

0.2

0.15

0.1

0.05

8298

3297.5

8297

3296.5

8296

3295.5

8295

3294.5

8294

alpha46_4eY4aY:cyclenum {run == 8296}

11074 11074.5 11075 11075.5 17076 11076.5 11077

run:cyclenum {run ==

cyclenum

8296}

11074 11074.5 11075 11075.5 11076 11076.5 11077

cyclenum

deltal3_12X4eX:cyclenum {run == 8296}

deltal3_lzx4ex

-2

-25

-3

L
11074 11074 5 11075 11075.5 11076 11076 511077
cyclenum

segment:cyclenum {run == 8296}

segment

25

15

05

11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum



usl_1X:cyclenum {run == 8296}

L
11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum

usl_4eY:cyclenum {run == 8296}

1 411074.5 11075 11075.51 611076.51 7
cyclenum

x
N
—
]
S

usl_4ay

usl_4aY:cyclenum {run == 8296}

usl_4eX:cyclenum {run == 8296}

1.2

0.8

0.6

0.4

0.2

cyclenum

usl_12X:cyclenum {run == 8296}

ok %'....|....|....|...%§....|....%§ 0
17074 11074.5 11075 11075.5 17076 11076.5 11

411074.5 11075 11075.51 611076.5 1 7
cyclenum

run:cyclenum {run == 8296}
8298

3297.5

8297

3296.5

8296

3295.5

8295

3294.5

P I P NP TP Y T
11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum

SO I T T P PP TP T T
11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum




-100

-120

16

usr_4eY

14

12

10

usr_1X:cyclenum {run == 8296}

—K T X X—
. X
N N T T
11074 11074 5 11075 11075.5 11076 11076.5 11077
cyclenum
usr_4eY:cyclenum {run == 8296}
o SR S R SRe

'....|....|....|...%§....|....%§
1 '411074.511075 11075.51 611076.51
cyclenum

0

usr_say

usr_12X

usr_4aY:cyclenum {run == 8296}

X

11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum

usr_12X:cyclenum {run == 8296}

11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum

i

usr_4eX

120

100

o

8298

3297.5

8297

3296.5

8296

3295.5

8295

3294.5

8294

usr_4eX:cyclenum {run == 8296}

411074.5 11075 11075.51 611076.5 1 7
cyclenum
run:cyclenum {run == 8296}

11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum




18000

16000

14000

12000

10000

8000

6000

4000

2000

-500

-1000

-1500

—-2000

-2500

-3000

usl_coill:cyclenum {run == 8296}

F K Kol XKoo
I I I T I T PR
11074 11074.5 11075 11075.5 11076 11076.51 7
cyclenum
usl_caoil6:cyclenum {run == 8296}
C K——K—

11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum

‘2500

2000

1500

1000

500

o

; 5200

15000

4800

4600 |
4400

4200 F

4000

3800

3600 |

3400

3200

usl_coil3:cyclenum {run == 8296}

|||||
411074.5 11075 11075.5 11076 11076.5 11077
cyclenum

usl_coil7:cyclenum {run == 8296}

11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum

16000

5000

4000

3000

2000

1000

8298

3297.5

8297

3296.5

8296

3295.5

8295

3294.5

8294

usl_coil4:cyclenum {run == 8296}

11074 11074.5 11075 11075.5 11076 11076.5 1 7
cyclenum

run:cyclenum {run == 8296}

11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum




—-2000

-4000

-6000

-8000

10000

12000

14000

16000

-500

-1000

-1500

—-2000

-2500

-3000

usr_coill:cyclenum {run == 8296}

S . P e .-

'.'.';'.'r;'.'.'.'1'.'.'

) i i
11074 11074 5 11075 11075 511076 11076.5 11077
cyclenum

usr_coil6:cyclenum {run == 8296}

AT

11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum

-500

-1000

-1500

—-2000

34800

34600

34400

34200

34000

33800

33600

usr_coil3:cyclenum {run == 8296}

e

11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum

usr_coil7:cyclenum {run == 8296}

11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum

5000

4000

3000

2000

1000

8298

3297.5

8297

3296.5

8296

3295.5

8295

3294.5

8294

usr_coil4:cyclenum {run == 8296}

11074 11074.5 11075 11075.5 11076 11076.5 1 7
cyclenum

run:cyclenum {run == 8296}

11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum




—-100

-120

-140

-100

-150

-200

-250

1X_coill:cyclenum {run == 8296}

L1
11074 11074 5 11075 11075. 5 11076 11076.5 11077
cyclenum

4eX_coill:cyclenum {run == 8296}

I
N
B
H

T
-
B
.

X % %

11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum

o

4eX_coil3

|
4l

-10

-15

1X_coil3:cyclenum {run == 8296}

411074.5 11075 11075.5 11076 11076.5 11077
cyclenum

4eX_coil3:cyclenum {run == 8296}

11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum

1252

1X_coil7

250

248

246

244

242

4eX_coil7
N
a
©

1X_coil7:cyclenum {run == 8296}

11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum

4eX_coil7:cyclenum {run == 8296}

11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum




4ay_colla
w
o
o

250

200

150

100

50

4eY_colla
w
o
o

N
13
o

200

150

100

50

4aY_coild:cyclenum {run == 8296}

11074 11074.5 11075 11075.5 11076 11076.5 1 7
cyclenum

4eY_coil4:cyclenum {run == 8296}

11074 11074.5 11075 11075.5 11076 11076.5 1 7
cyclenum

“ar_vunu

-100

-100

-120

-140

4aY_coil6:cyclenum {run == 8296}

X X

11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum

4eY_coil6:cyclenum {run == 8296}

11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum

-42.5

-43.5

-35

'-35.2

-35.4

-35.6

-35.8

-36.2

-36.4

-36.6

-36.8

4aY_coil7:cyclenum {run == 8296}

calirs L1
11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum

4eY_coil7:cyclenum {run == 8296}

11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum




-100

-150

-200

-250

12X_coil6

12X_coill:cyclenum {run == 8296}

e e PR [A— -
. S . P e .-

11074 11074 5 11075 11075.5 11076 11076.5 11077
cyclenum

12X_coil6:cyclenum {run == 8296}

11074 11074.5 11075 1107551 611076.51 7
cyclenum

Len_vuni

12X_coil3

£ -500

-505

-510

-515

-520

-525

-530

12X_coil3:cyclenum {run == 8296}

11074 11074 5 11075 11075 5 11076 11076.5 11077
cyclenum

12X_coil7:cyclenum {run == 8296}

11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum

12X_coil4
=
o

-10

-15

8298

3297.5

8297

3296.5

8296

3295.5

8295

3294.5

8294

12X_coil4:cyclenum {run == 8296}

11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum

run:cyclenum {run == 8296}

11074 11074.5 11075 11075.5 11076 11076.5 11077
cyclenum
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